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F oM =t 8,452,707 5,000,906 3,451,801
= 296,873
& 1,085,000
J| 119,433
& 25,000
< 3,623,343
Al 3,303,058
Fattssd ¢ &8 958,452 1,705,458 AT47,006
= 81,543
&2 25,000
< 62,852
Al 789,057
FUHSHY AL X 445,540 343,420 102,120
= 41,600
Al 403,940
ooz 3529 44,140 17,620 26,520
201 Let249] 11,340 9,620 1,720
01 At 22l 840 1,820 A 980
OXNEAJ3 3g&FA =& 70,0003 +6H 23] 840
02 =224l 7,500 4,800 2,700
OOAR &2l s 4,500,000 4,500
O3 2el 3,000, 000& 3,000
03 &Ar2 I 3,000 3,000 0
O2s0i=d8AMN 22 2 K& S  3,000,000& 3,000
202 04l 1,800 2,000 2200
01 = LH 4 Hi 1,800 2,000 2200
OZsti=dA =8 L U=+8 S
1,800,000 1,800
301 et A3 1,000 1,000 0
10 HALAHI 242 1,000 1,000 0
O2stollsaa izl 23X 1,000,000& 1,000
401 Al HIZ 201 I 30,000 5,000 25,000
01 A& HI 30,000 5,000 25,000
OAIZ& OFARC0 W, E= 30,000, 000& 30,000
ZEUEES0 =M XA 5,000 4,000 1,000
307 glz2+ol & 5,000 4,000 1,000
04 QIZHSHALE = 5,000 4,000 1,000
Ogls=0l =H 5,000,000 5,000
SESA3 HEKA 18,000 18,000 0
307 21201 A 18,000 18,000 0
04 QIZHEHALE = 18,000 18,000 0
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02013 sE@ S22 MHaXH 18,000, 000& 18,000
=3¢ X L WX 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZEHALE & 8,000 8,000 0
ZACIZ2NE 8,000,000& 8,000
s5& & HAEEg KX 95,000 90,000 5,000
307 21201 A 95,000 90,000 5,000
04 QIZHHALE = 95,000 90,000 5,000
OHM158 sS& & HAEY HEAXS
95,000,000& 95,000
SLEHIE 43 NN 5,800 5,800 0
307 21201 A 5,800 5,800 0
04 QIZHSHALE &= 5,800 5,800 0
Osotel sk 5,800,000& 5,800
HOotot= 2stgs X& 48,600 50,000 A 1,400
< 21,800
Al 26,800
307 glz2tol & 48,600 50,000 A 1,400
< 21,800
Al 26,800
04 QIZHSHALE = 48,600 50,000 A 1,400
OO0t 2stas XA 48,600,000 48,600
< 21,800
Al 26,800
= Ol0t= & BHE ZAHWE 30,000 35,000 A5,000
307 glz2+0l & 30,000 35,000 A5,000
04 QIZ2HHALE = 30,000 35,000 A5,000
OXM152 8= Ot0t=0 & SHE A3
30,000, 000& 30,000
HdSH==H 40,000 30,000 10,000
307 glz2tol & 40,000 30,000 10,000
04 QIZHHALE = 40,000 30,000 10,000
OdEZs=H 40,000,000& 40,000
A2HSH 85,000 85,000 0
307 21201 A 85,000 85,000 0
04 QIZtHALE & 85,000 85,000 0
OM28sl AQHEM(SFHUE)
85,000,000 85,000
Helz2 ue ols 66,000 0 66,000
< 19,800
Al 46,200
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 5,400
Al 12,600
02 2ItF & E X 18,000 18,000 0
Ofx=dS UEEEAY 18,000, 000& 18,000
< 5,400
Al 12,600
Il Ot0H= A= M EIOHX & 5,000 5,000 0
< 1,500
Al 3,500
307 21201 A 5,000 5,000 0
< 1,500
Al 3,500
03 Mt8lEHHEXS 5,000 5,000 0
OHM20&l ZII% ot0t=0 H=H FIHAE
5,000,000 5,000
< 1,500
Al 3,500
IS0 XA 10,000 6,670 3,330
< 3,000
Al 7,000
307 21201 A 10,000 6,670 3,330
< 3,000
Al 7,000
03 MElEHHEXS 10,000 6,670 3,330
OZJI& esd=HM &)X 10,000,000& 10,000
< 3,000
Al 7,000
NgEstd =4 84,900 82,000 2,900
& 25,000
Al 59,900
307 glz2tol & 84,900 77,000 7,900
&2 25,000
Al 59,900
02 QlZtFANE X 24,900 17,000 7,900
OXgEsa 2948 XA 24,900,000 24,900
03 At HHEZES 60,000 60,000 0
OXg=sta mMgas N 60,000, 000& 60,000
& 25,000
Al 35,000
2oll=-td SN 43,800 35,000 8,800
307 gl2tol & 43,800 35,000 8,800
02 pIZtA A2 X 43,800 35,000 8,800
OSF&UE 2dH s N& 43,800,000 43,800
F ot ™ ALY 119,382 131,538 A 12,156
= 81,543
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< 11,352
Al 26,487
307 glz2+ol & 119,382 131,538 N 12,156
= 81,543
< 11,352
Al 26,487
02 QIZtF A8 X 119,382 131,538 A 12,156
O=ZstHt2 M ALY 119,382,000 119,382
= 81,543
< 11,352
Al 26,487
A8E Hsy SHEXHA 3,000 3,000 0
EYANLE =1 & HII 3,000 3,000 0
201 2et24d] 3,000 3,000 0
01 At 22l 3,000 3,000 0
Og=He= Meld &8 3,000,000 3,000
Elig= ¢ E& 463,729 148,900 314,829
= 210,000
< 70,714
Al 183,015
= sA2e & 29 443,529 128,700 314,829
= 210,000
< 70,714
Al 162,815
SERH 2| 15,700 8,700 7,000
201 Let24d] 700 700 0
01 At 22l 700 700 0
OHEZSMESAE A
70,0003 x5 +23] 700
401 AIEHI L 2] 15,000 8,000 7,000
01 A& Hl 15,000 8,000 7,000
OSERH el L FHI(11hA)
15,000, 000& 15,000
AN thed 23| 180,000 0 180,000
= 90,000
< 45,000
Al 45,000
402 RI2tXt20l M 180,000 0 180,000
= 90,000
< 45,000
Al 45,000
01 2I2tR2E X 180,000 0 180,000
O HEH E==FHl 180,000, 000& 180,000
= 90,000




Z oM =t
Mgz ¢ BE
Z3 M =Xl ¥ 24 (&)
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
< 45,000
Al 45,000
M &2t =8 FHl SA 171,429 0 171,429
= 120,000
< 25,714
Al 25,715
402 RI2EX=20l A 171,429 0 171,429
= 120,000
= 25,714
Al 25,715
01 RIZEAI2E X 171,429 0 171,429
OXMEY &4 =8 b JA
171,429,000& 171,429
= 120,000
< 25,714
Al 25,715
SEANZZ 2F 36,400 0 36,400
201 LB-2d| 24,400 0 24,400
01 At 2t 2l 2,400 0 2,400
O el 2,400,000 2,400
02 2324l 22,000 0 22,000
OdIIRa 8 22,000,000& 22,000
405 XHoHF S HI 12,000 0 12,000
01 XAt 2 S FH S| 12,000 0 12,000
Od. eI 2¢ 12,000, 000& 12,000
sFUHE=2 29 40,000 0 40,000
307 glz2tol & 10,000 0 10,000
02 QIZtF A8 X 10,000 0 10,000
Od=®A 22| 10,000, 000& 10,000
401 AIEBIZ 201 8I 30,000 0 30,000
01 A& tl 30,000 0 30,000
OA=L=3AME HAAE H.E+
30,000,000& 30,000
M Hsgds N 20,200 20,200 0
sFUHA I MSESTA 13,200 20,200 A7,000
307 glz2+ol & 13,200 20,200 AT,000
02 QI2tA A8 X 13,200 20,200 A7,000
OsFuUdac dsAtd 13,200,000 13,200
StEgedx dsEs ¥ 7,000 0 7,000
307 21201 A 7,000 0 7,000
02 2ltF & E X 7,000 0 7,000
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5 - 4
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OARAH2ZX F=XE AEXNE Fa2E 2|
3,000, 000& 3,000
401 Al HIZ 2018 24,000 23,000 1,000
01 A& HI 24,000 23,000 1,000
OALa2 23X A&l 20,000,000& 20,000
OAR4H2Z X OLXIZZEAIE KX 22l
3,000,000 3,000
OARer2ZXNJEH 22 =2l
1,000,000 1,000
405 Xt&tE SHI 300 10,800 A 10,500
01 AL EFHSHI 300 10,800 210,500
OARer2ZXNJEH W=D ¢
300,000& * 1CH 300
L2QURAEAXN LA 2,000,000 0 2,000,000
& 1,000,000
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401 A& HIZ 201 8] 2,000,000 0 2,000,000
& 1,000,000
< 300,000
Al 700,000
01 A& HI 1,993,000 0 1,993,000
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Al 697,550
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< 1,050
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ENRSRSEET SN/ R 170,000 0 170,000
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= 25,500
Al 59,500
AAr2H2 X OHEALS 170,000 0 170,000
& 85,000
< 25,500
Al 59,500
401 Al HIZ 201 8] 170,000 0 170,000
& 85,000
< 25,500
Al 59,500
01 A& HI 169,000 0 169,000
OALer2 2 X 169,000, 000& 169,000
& 84,500
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fAM: 2=
Hu: MY XE
el 222 Y (9 ® =)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& bl 2,936,833 0 2,936,833
O&JIsR0aolr=2 AE  2,936,833,000& 2,936,833
< 2,936,833
02 Zeltl 150,000 0 150,000
OdlIs20eoedsa A 150,000, 000& 150,000
< 150,000
03 Al =2 THHI 10,000 0 10,000
OZJI=sRHaol=2a A 10,000, 000& 10,000
< 10,000
Hs4td 4 1,457,352 2,025,305 A 567,953
| 119,433
< 65,845
Al 1,272,074
MsEAME =4 102,000 152,000 A 50,000
HMEAE FH 102,000 152,000 A 50,000
201 Let2d] 10,000 0 10,000
01 At 22l 8l 10,000 0 10,000
OXNsAE2 22l 22 10,000, 000& 10,000
401 Al& I 2 O8I 92,000 152,000 260,000
01 A& tI 90,000 150,000 A 60,000
OMSAEE X & B 90,000, 000& 90,000
03 A& S THHI 2,000 2,000 0
OMSAIEE X & B+ 2,000,000 2,000
M=tia X 391,800 322,000 69,800
< 8,400
Al 383,400
M=sds s8N 227,800 188,000 39,800
201 Let2d] 40,000 0 40,000
03 &AL Z I 40,000 0 40,000
OAI2lstEr M3 Al 40,000,000 40,000
202 O4dl 1,800 2,000 A 200
01 = LHAYI 1,800 2,000 A 200
OMsEgEAL NIJ & d& MESAME HE
1,800, 000& 1,800
307 gl2tol & 186,000 186,000 0
02 I A E X 144,000 149,000 25,000
O&JE SHAME EEEX(MKS)
2,000,000 2,000
ORM94sl &= SHMA EXBX(ME3)
2,000,000 2,000
OR243 2= MEMNMSUHSE EH(MEUS
3l) 90,000, 000& 90,000
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2N 2HMSH
N MsNY |4

&??: M XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFINE 2 A= M2AS 322 28 (A
=3l) 30,000, 000& 30,000
OZJE ZOHMEHNSUHS SHEZ(HEX
=3l) 10,000,000& 10,000
OZJIE Zoe M=sUal (M=s3l)
5,000,000 5,000
OHe s=¢E | =z s&8EX
(MEH=3 5,000,000 5,000
04 QIZ2HHALE = 42,000 37,000 5,000
08.15 &7 HEX(HS3)
5,000,000 5,000
OANZI MU HE SX(MBUS3)
32,000,000& 32,000
03.18718 dJlzu=sz)| S=UHIL I
=3 5,000,000& 5,000
EXAMI Hsla = 84,000 64,000 20,000
< 8,400
Al 75,600
307 QI2+0| & 84,000 64,000 20,000
< 8,400
Al 75,600
02 QIZtFAE X 84,000 64,000 20,000
OEH? MEBHSHE SN 84,000,008 84,000
< 8,400
Al 75,600
ANEH AL RAEHHS = XA 80,000 70,000 10,000
307 21201 A 80,000 70,000 10,000
04 QIZtHALE & 80,000 70,000 10,000
O&st S MMTBMH 21 JH Z 80,000,000 80,000
AE2SEIR 24 460,000 420,000 40,000
ANZHE 2538 29 460,000 420,000 40,000
301 et A=z 460,000 420,000 40,000
Mozt - 2s2SENS 460,000 420,000 40,000
ONZHB2EAIR 28 (LNL)
460,000,000 460,000
MENSHEISH U MBS 503,552 463,305 40,247
J| 119,433
< 57,445
Al 326,674
MEHSE2S 29 134,100 134,300 A 200
201 LBt2H| 9,600 9,100 500
01 At 22l 4,400 4,400 0
OM=dEE2S =g 1,400,000& 1,400




SN 2HHSD
3 MsaY |4
el dMEHsgdsd E dedsAE (Sl & &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ON=dAN 222 Ax 2 +84)
3,000, 000& 3,000
02 =224l 5,200 4,700 500
O2EX& KA 4,000,000 4,000
OHSBIENERY SatBaAN 448
1,200,000& 1,200
307 21201 A 124,500 120,000 4,500
02 2ItF & E X 124,500 120,000 4,500
OAl.2 dEH=s3 S4X& 70,000,000& 70,000
OAl.Z M=z sdXE 28,000,000 28,000
O=2=Hs 4N (d=s3) 26,500,000& 26,500
HEHSWY 4E2Y 5,000 10,000 A5,000
307 gl2tol & 5,000 10,000 A5,000
04 QIZHSHALE &= 5,000 10,000 A5,000
OMEsIY AE2H(15HES)
5,000,000 5,000
ANAce dEHMSAEX iR 223,776 176,580 47,196
J| 99,360
< 54,864
Al 69,552
307 21240 223,776 176,580 47,196
J| 99,360
= 54,864
Al 69,552
04 QIZHHALE & 223,776 176,580 47,196
OXactel MExs XNSA Bixl
223,776,000 223,776
J| 99,360
= 54,864
Al 69,552
MeExs N2 18,000 12,000 6,000
301 et a3z 18,000 12,000 6,000
12JIE243 18,000 12,000 6,000
Of=H< XNEZi 500,000 «3H «12& 18,000
FIENE sdEX 94,000 94,000 0
307 gl2tol & 94,000 94,000 0
04 QIZHHALE = 94,000 94,000 0
ORMB59s ZIEHMAE EXEX(HMS3)
90,000, 000& 90,000
OZJE Hadldadsts sdEX(M=s3)
4,000,000 4,000
HSHSH™ AIHAS 28,676 26,425 2,251
J| 20,073
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Hsad 84
MEHSEASSE L HEHISXH )
= - — SHE|
SN HH-S(BN) - MBAY - B e 2
< 2,581
Al 6,022
301 LBtEAZ 28,676 26,425 2,251
| 20,073
< 2,581
Al 6,022
12 JIEtE4 3 28,676 26,425 2,251
OXN=HSH™ AlYA 28,676,000 28,676
| 20,073
< 2,581
Al 6,022
HE2LAZH (2SI =) 38,830 37,060 1,770
|23 (23 M=s2t) 38,830 37,060 1,770
Jl2ZHl (2 =) 38,830 37,060 1,770
201 Let2d] 9,240 9,720 A 480
01 At 22l 9,240 9,720 A 480
ORNM2E AR 2] 9,240,000 9,240
202 Odl 23,040 23,040 0
01 = LH Yl 23,040 23,040 0
OJlege==8odl(12g) 23,040,000& 23,040
203 R =&Yl 2,700 3,000 A 300
04 FN2ELRZ=TH| 2,700 3,000 A 300
ORNM2ZIFAHI(1521015t)
225,000& 128 2,700
405 RHoHE S HI 3,850 1,300 2,550
01 AL EZFH S 3,850 1,300 2,550
OSsgJl (1) 3,600,000& 3,600
OXSHAI 2L (1h) 250,000 250




